
Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Moltiplica i decimali per potenze negative di dieci

2470, 2 × 0.001 = ________ 1074, 4 × 0.001 = ________

9335, 3 × 0.01 = ________ 5809, 2 × 0.1 = ________

7172, 1 × 0.1 = ________ 5578, 4 × 0.1 = ________

5314, 6 × 0.001 = ________ 5419, 7 × 0.001 = ________

7189 × 0.01 = ________ 7416, 1 × 0.0001 = ________

2651 × 0.001 = ________ 6183, 9 × 0.1 = ________

4703 × 0.01 = ________ 4336, 1 × 0.01 = ________

1215, 2 × 0.0001 = ________ 2140, 6 × 0.01 = ________

5829, 9 × 0.01 = ________ 7719, 5 × 0.001 = ________

2985, 3 × 0.1 = ________ 7601, 8 × 0.001 = ________
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Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Moltiplica i decimali per potenze negative di dieci

2470, 2 × 0.001 = 2.4702 1074, 4 × 0.001 = 1.0744

9335, 3 × 0.01 = 93.353 5809, 2 × 0.1 = 580.92

7172, 1 × 0.1 = 717.21 5578, 4 × 0.1 = 557.84

5314, 6 × 0.001 = 5.3146 5419, 7 × 0.001 = 5.4197

7189 × 0.01 = 71.89 7416, 1 × 0.0001 = 0.74161

2651 × 0.001 = 2.651 6183, 9 × 0.1 = 618.39

4703 × 0.01 = 47.03 4336, 1 × 0.01 = 43.361

1215, 2 × 0.0001 = 0.12152 2140, 6 × 0.01 = 21.406

5829, 9 × 0.01 = 58.299 7719, 5 × 0.001 = 7.7195

2985, 3 × 0.1 = 298.53 7601, 8 × 0.001 = 7.6018
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